D6 FEMFEVU D

sl EFHH

10§ 1S
g kK1 - 9K

(10H128(X) mERREHKE HAERIA10:30 #8713:20 HEKHE 285E509]
[BkE&E] EA(EAOB) [—£%F] HFHETAOB) [Z2%F] KH(z60B) [=£%F] =H(B¥O0B)

BRI - RE (2B518%)
Bie = 298 (OR%18%)

- 2 el AN t AN h R

RIX 0 00 0 00 1
X 2 00 0 3 |x

o| o
o| = N
| O

<BEESE>

R BDIC UTEEAN. KU,

IER(FHE, WERDORISIRENMBH . =2DIF=E/ED
s BAEE (4 - SHEFE) MEER=2fT 85 2m%5kH T
50
6E(CHBIUIFEERN IEH —IFEmREIT D E, UL UWHE (3-8
AIEBR) OHFEHEF T/ E T DRI—B48a 52,

TS(C8EICHERFHUE LU T3IRZEBL. RAEESHRL
7_:0
KRIF T, 4EFOIFSETRRXZTEMH TR .

BX(E. &FEAMEDENTEEL LT,
EibN AW
8. 0UE, 1BAK. R [BH. K<H. aR. (P

BF e wmE wm 5w [E

® F |l I AL. AR
AREFT

=817 WE BakE
—=27  |KHE

% 1]

H ® 2
% 2 12 8
& 2 |25

% ® |me. Bl

=z % ]

i &

FE HER
[9] XREY (4 KFR#REZ) 5 1] Of 0] O

[6] JNALR (4 HREFE) 2l O O 2| 1




H BEF (1 BEXLL) 1 O 0O O] O
6 i1t (2 FERIAKIR) 1 1 0O 0] O
[5] aH (2 REPEER) 1 1] 1 0] 3
H FH (1 IEER) 1 0o O 1] O
[3] et (4 EXULL) 2l O O O O
H RIS 2 IIEBR) 1 Oof O 1] O
7 7RI (2 FRAFR) 2( 11 O O O
[8] IR (2 L) 3] 1 0 of 1
[713 FRER (3 KBxtAEEZ) 4 1 Of 1| O
[2] s (4 }3IE) 3l 0 O Of O
H HH (4 E5FEE) 1 1 0 0] O
2 IR (3 KBrtAEEZ) O O O 0O O
[4] 1EA (3 Xi2) 2| o o of 1
H4 R (2 FEBZ) 1 1 0O 0] O
[1] s (2 #2m) 2l O O 2/ O
H =2 (1 HEFE) Of of o o 1
1 s (2 1K) O 0 O O O
1 RN (3 7&M) O 0 O O O
1 i (4 BEURIL) O 0 O O O
1 HE[R (1 BRELE) 0O 0O O O O
H KH (2 &H) 11 0 0O 1| O
1 ZH (1 BFE3EE) 0O O O O O
1 alll (4 IEEBR) O O O O O
5 33| 8| 1 8| 7
4|2
FiE  |0ys| 17| 3|0/0| 2|2
A |01 9] 2/0/0 1)1
P_EPFE|00/3) 8| 2/0[0] 2|1
HEJR 113 23| 5/1{1| 0/|0
ZH |0y3| 26| 5|0/1| 4|1
Bl |03 5| 3|0/0 00
5 8|176| 41|2|9(13|7

[516 %H (4 BR)
[4] B (3 BAXILES)
[3] = (2 FBIE4E)
[718 SYats (4 EXEE)
[8]9 Syl (4 BEFHE)
[2] AXE (4 BHIKE)




H 4 (4 HEEEX) 0O 0o 0o O 1
R7 B¥fE (3 KBRAEFZ) 0O O O O O
H7 YEH (3 IEAHM) 1l ol of of o
[9] B _E (3 MREEX) 2l O O 1] O
H2 Az (4 HIZ/EIH) 2| of of 1] o
[6] Rl (3 BBEER) 2| of o of o
H5 ax (1 [55%) ol of o of 2
[1] At (4 EE¥E) 1l ol o 1| o
1 &H (4 BBHEHNFRL) 1 0 O 1| O
H IREZ (2 BEBAFER) o o 1 0] 1
1 il (4 BEBEAFER) 0O O O O O
H Ak (4 KBRAEFZ) 0O O O O 1
1 {REERE (4 &FH) 0O O O O O
st 28] 2| 7| 9| 13
B B 3TE TR S
a4 72| 183[4]3]1
=@ |2 39 10 1|2]30
mA |2 31 ol3[1]1]o0
gl 1] 13 31]1]0lo
st |9|155) 40|8[8| 7|1

AfmFAEEGERE KANSAIL BIG 6




